TU—hy7 MBEEEALZRTYa2—)  1HE (5A3R)
ZF Ad—F (BEAE)
AZov o B7ow o
VERTEX TG
47 69 23 32
16/ 49 100 / \, 100
RILEHHR | 39 BT Mk A>T 51 43 =RER
KERREICLY 2MF—LOIRY DT EITVWET,
FF Ba—F (AOHE)
A= BZAv s
AV 5K +3
56 45 49 45
59 61 56 35
Eipr 25 59 kit HIEEHHR | 48 52 L=
-31 +3 -6
ZF Ad—F (B £F Ba-—F (AOMA)
830 | ZREAR Vs e g 8:30 EREg Vs /NG

1 QS [29:22:28:21 10:6:8:8 QS [7:6:4:18 7:21:10:7
faR 100 32 =S 35 45
9:50 sk Vs VERTEX [ 10:00 JAW/N Vs Calic]

2 QS 7:13:8:21 25:9:24:111 QS [6:13:15:11 10:18:10:23
EES 49 69 S 45 61
11:10 kil Vs ao/R># | 11:20 N Vs EJIN=1==P 8

3 QS 7:6:4:6 36:26:24:14)] QS |16:12:12:9 14:17:14:11
FEEES 23 100 EES 49 56
12:30 | VERTEX V'S HILSHR| 12:40 Erw" V'S A/

4 QS |12:12:17:56 5:5:0:6] QS [12:15:16:13 15:14:14:16
EES 47 16 RS b 56
13:50 m A Vs =REBHA | 14:00 | FLEHE V'S ENE]

5 QS 6:16:17:12 10:10:7:16 QS 18:10:13:7 13:16:14:9
LEES 51 43 =S 48 52
15:10 | RILEH 5k Vs NG 15:20 ki) Vs Kb n

6 QS 8:11:10:10 8:14:20:15 QS ]19:13:10:17 6:8:7:4
EEES 39 57 faR 59 25

8-2-8-5-8-2-8 8-2-8-5-8-2-8




JY—hv7 BEE&EXALRTYa—) 2HE (5A4R)
ZF Aa— b (EMA)
BRI RTE B NERLRTE B
ZE] VERTEX /N3
51 62 52 54
46 51 45 30
26| mnxvH | 61 3B | ZREA RILSHR]| 42 63 i)
2% Ba—+t (ADOAD
BRI RE ¥ JNE{RLRE L
211 N7 JAS/
59 95 42 63
60 39 44 42
-1 FERPE 51 50 | HILSHR &= 51 49 EiNEE]
ZF Aa—+ (EA) BF Ba—F (AOAED
8:30 P Vs /NI 8:30 N Vs JAD/

1 QS 4:10:10:6 15:12:11:16 QS 16:7:11:8 15:21:13:14
fER 30 54 TEER 42 63
9:50 VERTEX V'S =REAR 9:50 RILBHR V'S MoK

2 QS 10:15:16:9:12 9:9:14:18:1 QS 9:13:10:7 12:16:13:14
EEES 62 51 TER 39 13
11:10 ING Vs RLSHFHE] 11:10 AR Vs G

3 QS 17:6:13:16 7:17:8:13 QS 6:9:18:9 6:9:14:15
LS 52 45 TaR 42 44
12:30 ZRER Vs =PASs) 12:30 Mk Vs 7Y

4 QS 4:11:12:8 14:17:9:21 QS 18:13:12:16 16:16:18:10
fER 35 61 TER 59 60
13:50 Pl Vs RILEFR|]  13:50 ENE] Vs Eir)

5 QS 6:11:12:13 16:15:17:15 QS 8:13:18:10 14:9:13:15
fER 42 63 ER 49 51
15:10 VERTEX Vs O/N>#H | 1510 |HEBFHR  vs Gk

6 QS 7:14:17:13 11:6:10:19 QS 15:14:8:13 9:14:12:16
EEES b1 46 R 50 51

8-2-8-5-8-2-8 8-2-8-5-8-2-8




